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一、填空：（每空2分，共40分）
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二、计算题：（每小题10分，共60分）

1、（1）
[image: image8.wmf]rad

L

d

3

10

4

-

´

=

=

a


（2）
[image: image9.wmf]nm

n

d

340

2

=

=

D

l


（3）
[image: image10.wmf]nm

l

n

l

4

10

5

.

8

,

2

sin

´

=

=

l

a


（4）
[image: image11.wmf]141

=

=

l

L

N

条。
2、解：
[image: image12.wmf],

002

.

0

500

1

mm

d

=

=



[image: image13.wmf]o

o

487

.

20

,

537

.

11

sin

,

1

,

sin

700

1

400

=

=

=

=

=

-

q

l

q

l

q

d

k

k

k

d

由


第一级光谱衍射角宽度：
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3、解：（1）
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4、解：（1）由
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